RENAULT

. -

Q +902165083786 R info@parsrot.com



Leading

Manufacturer
Company

WHY PARS STEERING
SUSPENSION PARTS

1. Having an understanding that maximizes customer satisfaction.
2. 32 years of experience on automotive spare parts industry.
3. Certificate of IS0 9001:2015

4. Factory is next to biggest port, Logistic Companies and Air Cargo
in Istanbul, Turkey

5. High-Tech Machinery, and High-Sustainable Quality
6. Just in time production with scheduled producing program.
7. Competitive and reasonable prices.

8. Fast Costum Regulations.

9. Customer-oriented operating system

0

Ferhatpaga Mahallesi 38. Sokak No: 91
Atasehir/ISTANBUL, Tiirkiye

e +90216 661 26 19

Q) +90216 661 2619

ABOUT COMPANY

As a leading manufacturer, PARS ROT VE ROTIL company has been
producing high qualified steering and suspension spare parts

for passenger cars and light commercial vehicles, it has been founded
in 1989 and it has supplied acceleration to the sector with the
improving institutional structure and fast growing producing power

that it has.

Over 5 million items annual producing capacity and 7 thousand
product range, and with over 200 employees places

PARS ROT VE ROTIL to the position of leadership within the sector in
national and also international improving markets.

As one of the varied range steering and suspension parts manufacturer
in the world,

production and assembling facilities of PARS ROT VE ROTIL contains
operations of the following product lines in steering and suspension

group for the aftermarket, stabilizer links, tie rod ends, axial joints,

ball joints, bushings.

PARS ROT VE ROTIL, is certified under ISO 9001-2015 quality
management systems and the products are precisely assembled in our
assembly lines and further, are made ready for packing upon

final control.

www.parsrot.com
info@parsrot.com




RENAULT

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 3 info@parsrot.com




—
sy L and

12_15 17

RENAULT

1970-2000

[AITTY

[

-

RN-16325 RN-16325N
Suspension Control Arm and Ball Joint Suspension Control Arm
Assembly
Front
Front Lower Lower
Lower
7700562943
7700562943
RN-16301 RN-16302
Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint
Assembly Assembly
Front Right Lower Front Left Lower
7700571172 7700571173
RN-16326 RN-14307
Suspension Control Arm and Ball Joint Stabilizer Link
Assembly
Front
Front Upper L=97mm
7701552545 7701453465
RN-16327 RN-11304
Suspension Control Arm Ball Joint
Rear Front
FrontLowerRear 7701460885
7700504459
RN-11305 RN-20142
Ball Joint Control Arm Bushing
Front Lower Lower
7701460886 7704001600
DAC-20141
Control Arm Bushing
Upper
7701348300
GTS 1982-1986
|
RN-13406 RN-23201406
Axial Joint Steering Tie Rod Assembly
Front Front ) I
M14x1,5Rht-L=190mm 7701462877 O

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

4

info@parsrot.com



Rot sy

== Land RENAULT
GTS 1982-1986
RN-11404 RN-11405
Ball Joint Ball Joint
Front Front Lower
7701461332 7701461331
RN-12201
Tie Rod End
Front
M14x1,5Rht
7701464151

1978-1981

RN-16325N RN-12201
Suspension Control Arm Tie Rod End
Front Front
Lower M14x1,5Rht
7700562943 7701464151
RN-16325 RN-23201407
Suspension Control Arm and Ball Joint Steering Tie Rod Assembly
Assembly
Front
Front Lower
Lower 7701462877
7700562943
RN-13407 DAC-20141
Axial Joint Control Arm Bushing
Front Upper
M14x1,5Rht-L=205mm 7701348300
7701462877
RN-20142 RN-16326

Control Arm Bushing

Suspension Control Arm and Ball Joint
Assembly

Lower
Front Upper
7704001600
7701552545
RN-11305 RN-11304
Ball Joint Ball Joint
Front Lower Front
7701460886 7701460885

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

5

info@parsrot.com



Rot sy

mw Land RENAULT
1991-2001
RN-11203 RN-20150
Ball Joint Control Arm Bushing
Front Lower Front Inner
D=@16mm-Hole:@10,5mm-@12,6mm 7700840741
7701468883
|
RN-20151 RN-13507
Y Control Arm Bushing Axial Joint =~
. Front Inner Front
7700789477 M14x1,5-L=259mm
7702145337
| |
RN-23501507 RN-23502507
—— Steering Tie Rod Assembly Steering Tie Rod Assembly =
| Front Right Front Left
7701467237 7701467235 \
|
RN-12501 RN-12502
TieRodEnd  Tie Rod End g
Front Right Front Left .
M14x1,5Rht M14x1,5Rht I
6000030048 6000030047
RN-16525 RN-16526
Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint
Assembly Assembly

Front Right Lower

Front Left Lower

Suspension Control Arm
Front Right Lower
7700831368

7700831368 7700818052

RN-16555 RN-16556

Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint
Assembly Assembly

Front Right Lower Front Left Lower
Only:2.016V Only:2.016V
7700829842 7700829841

RN-16525N RN-16526N

Suspension Control Arm
Front Left Lower

7700818052

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 6 info@parsrot.com



—
sy L and

RENAULT

1991-2001

RN-16555N

Suspension Control Arm

Front Right Lower

RN-16556N

Suspension Control Arm

Front Left Lower

7700829842 7700829841
1981-1985
|
RN-11405 RN-11404
Ball Joint Ball Joint
Front Lower Front
7701461331 7701461332
|
RN-13407 RN-23201407
Axial Joint Steering Tie Rod Assembly
Front Front
M14x1,5Rht-L=205mm 7701462877
7701462877
|
RN-12201
' Tie Rod End
Front
- M14x1,5Rht
¢ 7701464151
21 MANAGER 1986-1994
|
RN-12201 RN-13507
Tie Rod End Axial Joint
Front Front
M14x1,5Rht M14x1,5-L=259mm
7701464151 7702145337
DAC-20144 RN-11203
Control Arm Bushing Ball Joint

Front Left Lower

7700783450

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

Lower Front Lower
7704000681 D=@16mm-Hole:@10,5mm-312,6mm
7701468883
RN-16226 RN-16225
Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint
Assembly Assembly

Front Right Lower
7700783449

parsrot.com

7

info@parsrot.com



Rot sy

mw Land RENAULT

21 MANAGER

1986-1994

RN-16226N

Suspension Control Arm

Front Left Lower

RN-16225N

Suspension Control Arm

Front Right Lower

Control Arm Bushing

Control Arm Bushing

Lower Front Inner
7700754515 7700772687
RN-12503 RN-11505
Tie Rod End Ball Joint
Front Front
Diesel(INJ) M14x1,5Rht Diesel(INJ)TI-TXE, Turbo D=&18mm
7701464019 7701464037
RN-16565 RN-16566
Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint
Assembly Assembly

Front Right Lower
7701161727

Front Left Lower

7701161726

RN-16565N

Suspension Control Arm

Front Right Lower

RN-16566N

Suspension Control Arm

Front Left Lower

7700783449 7700783449
NEVADA 1986-1995
——
RN-20211 RN-20212

7701461727 7701161726
1984-1993
.|
RN-13417 RN-12201
Axial Joint Tie Rod End
Front Front
L=190mmM14x1,5Rht M14x1,5Rht
7701464313 7701464151
RN-23201417 RN-11414
Steering Tie Rod Assembly Ball Joint
Front Front
7701469229Y 7701469228

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 8 info@parsrot.com



Rot sy

== Land RENAULT
25 1984-1993
|
RN-11415 RN-14610
N Ball Joint Stabilizer Link
! Front Lower Front Y —
7701465689  L-o64mm
7700805494
1962-1987
RN-13102 RN-23101102
Axial Joint Steering Tie Rod Assembly
Front Front
7700656318 7701461010
RN-12101 RN-11103
Tie Rod End Ball Joint
Front Front
M14x1.5Rht 7701451904
7701460955
RN-11104 RN-11105
Ball Joint Ball Joint

Front Right Lower

Front Left Lower

RESIRGE RACTES RS RIS s 7701463686
7701463687
1981-2000
.|
RN-13202 RN-23201202
Axial Joint Steering Tie Rod Assembly
Front Front
M14x1,5Rht-L=280mm 7701462540
7701462540
RN-12201 RN-11204
Tie Rod End Ball Joint
Front Front Lower
M14x1,5Rht D=@16mm-Hole:J12,5mm
7701464151 7702127160
RN-16225N RN-16226N
Suspension Control Arm Suspension Control Arm
Front Right Lower Front Left Lower
7700783449 7700783449

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

info@parsrot.com



—
sy L and

RENAULT

1981-2000

RN-16225

RN-16226

Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint
Assembly Assembly
Front Right Lower Front Left Lower
7700783449 7700783450
RN-11203 DAC-20144
Ball Joint

Front Lower
D=@16mm-Hole:&310,5mm-J12,6mm

7701468883

Control Arm Bushing —~
Lower

7704000681

AVANTIME
| |
RN-20152 RN-16424
Control Arm Bushing Suspension Control Arm and Ball Joint T~
Assembly N
Center
Front Right
7700822503
6025307650
|
RN-16425
Suspension Control Arm and Ball Joint
Assembly
Front Left
6025307649
1990-1998
|
RN-13703 RN-13713
Axial Joint Axial Joint
Front Front L=
M14x1,5Rht-L=240mm M14x1,5Rht-L=245.5mm
7701467272 7701469778
RN-13713K RN-13717
Axial Joint Axial Joint
Front Front
CompleteKit M14x1,5Rht-L=246mm withoutpowersteering
7701469778 7701471124
RN-23701703 RN-23702703
Steering Tie Rod Assembly Steering Tie Rod Assembly
Front Right Front Left ‘ R o
7701467272 7701467271

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

info@parsrot.com



—
sy L and

CLIO

RN-23711713

Steering Tie Rod Assembly

RN-23712713

Steering Tie Rod Assembly

Front Right Front Left
7701467540 7701467539
RN-12701 RN-12702
Tie Rod End Tie Rod End
Front Right Front Left
M14x1,5Rht M14x1,5Rht
7701467274 7701467273
RN-12711 RN-16725
Tie Rod End Suspension Control Arm and Ball Joint
Assembly
Front Right _
SMiSteering M14x1,5Rht ~ FrontRight Lower
7701471127 7700794387
RN-16726 RN-16725N
Suspension Control Arm and Ball Joint Suspension Control Arm
Assembly
Front Right Lower
Front Left Lower
7700794387
7700794386
RN-16726N RN-12712
Suspension Control Arm Tie Rod End
Front Left Lower Front Left
7700794386 SMISteering M14x1,5Rht
7701471126
RN-20145 RN-20146

Control Arm Bushing
Front Inner

7700799064

Control Arm Bushing
Front Inner

7700799065

RN-11203
Ball Joint

Front Lower
D=@16mm-Hole:@10,5mm-J12,6mm

7701468883

RENAULT

1990-1998

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 11 info@parsrot.com



Rot sy

= [and RENAULT
CLIO | 1998-2005
RN-13718 RN-13717KM
— Axial Joint Steering Tie Rod Kit
Front Front
B 7701471143 withoutPowerSteering
7701471124
]
RN-13718KM
—_ Steering Tie Rod Kit
Front
7701471143
li-HB 2005-2012
|
RN-16428N RN-14680

Suspension Control Arm

Stabilizer Link P

Front Left Lower Front
Ball Joint D=J18mm RSType
8200744091 8200686016
|
RN-16427 RN-16428
Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint
Assembly Assembly
Front Right Lower Front Left Lower
Ball Joint D=@18mm Ball Joint D=18mm
8200744092 8200744091
|
RN-16427N RN-20663

Suspension Control Arm

Front Right Lower
Ball Joint D=18mm

Control Arm Bushing

Front Lower Outer

8200744092
8200744092
RN-12732 NS-14420
Tie Rod End Stabilizer Link
Front Left Outer Front
M14x1,5Rht. L=248mm
7701047812 551107916R
RN-13423 RN-13423KM
Axial Joint Steering Tie Rod Kit
e ) Front Front
M14x1,5Rht-L=305.5mm includesaccessories.
7701475841 7701475841

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

12

info@parsrot.com



ﬂo[n
= Land RENAULT

li-HB 2005-2012

RN-12731 KS 15-14
Tie Rod End Stabilizer Link
Front Right Outer Front

M14x1.5Rht. - 2700799404
7701047813

RN-11585 NS-20473

Ball Joint Control Arm Bushing

Front Center
D=@18mm 8200183569
8200298455S
H-SYMBOL

RN-16788 RN-16789

Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint
Assembly Assembly

Front Right Lower Front Left Lower

545007106R 545011727R

RN-13783 RN-11780
Axial Joint Ball Joint

Front Front
M14X1,5-L=193mm 545041327R

485213172R

DAC-12302 DAC-12301
Tie Rod End Tie Rod End

Front Left Front Right
M14x1,5Rht M14x1,5Rht

6001550442 6001550443

KS 91-14 DAC-20611

Stabilizer Link Control Arm Bushing
Front Front Right Lower Inner
8200891487 6040002245

II-SYMBOL

RN-11204 RN-16746N

Ball Joint Suspension Control Arm

Front Lower Front Left Lower
D=@16mm-Hole:J12,5mm 8200254163

7702127160

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 13 info@parsrot.com



—
sy L and

RENAULT

CLIO II-SYMBOL

RN-16745N

Suspension Control Arm
Front Right Lower
8200254166

RN-16746

Suspension Control Arm and Ball Joint
Assembly

Front Left Lower

Hole:@12,5mm
8200254163
RN-16745 RN-12731
Suspension Control Arm and Ball Joint Tie Rod End
Assembly
Front Right Outer
Front Right Lower M14x1,5Rht.
Hole:@12,5mm
7701047813
8200254166
RN-12732 RN-13734KM
Tie Rod End Steering Tie Rod Kit
Front Left Outer Front
M14xT.5RNE 7701473655
7701047812
RN-13733KM RN-13734K
Steering Tie Rod Kit Axial Joint
Front Front Inner
7701472113 M14x1,5Rht-L=303mm
7701473655
RN-13734 RN-13733
Axial Joint Axial Joint
Front Front = e—ce—
M14X1’5£%y{e=|§6g%m% Mn.Steering M14x1,5Rht-L=304mm
7701473655 7701472113
.|
RN-16768N RN-16769N

Suspension Control Arm

Front Right Lower

Suspension Control Arm

Front Left Lower

8200942408 8200942407
RN-23732734 RN-12721
Steering Tie Rod Assembly Tie Rod End
Front Left Front Right
SMiSteering TRWSteering M14x1,5Rht
7701473655 7701471146

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 14 info@parsrot.com



Rot sy

== Land RENAULT
I-SYMBOL
RN-12722 RN-16735
Tie Rod End Suspension Control Arm and Ball Joint
Assembly
Front Left )
TRWSteering M14x1,5Rnt Front Right Lower
Hole:&10,5mm
7701471145
8200197187
RN-16768 RN-16769
P Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint
N\ Assembly Assembly
f N |
g / Front Right Lower Front Left Lower
' ' SYMBOL SYMBOL
8200942408 8200942407
RN-16735N RN-16736

Suspension Control Arm

Front Right Lower

Suspension Control Arm and Ball Joint
Assembly

Front Left Lower

8200197187 Hole:310,5mm
8200197179
RN-16736N RN-13714
Suspension Control Arm Axial Joint
Front Left Lower Front Inner -3::—::_ )
8200197179 M14x1,5Rht-L=242mm
7701471125
RN-13715 RN-13716
P Axial Joint Axial Joint
@ ‘ . Front Front . T e—
\ N/ SMISteering M14x1,5Rht-L=301mm Only:Clio2.016v M14x1,5Rht-L=318mm
" 7701472734 7701473656
RN-12711 RN-12712
B Tie Rod End Tie Rod End a
Front Right Front Left
SMiSteering M14x1,5Rht SMiISteering M14x1,5Rht
7701471127 7701471126
I RN-13716K RN-13723 I
Axial Joint Axial Joint
] Front Front o e——m =
o S— Only:Cli02.016V M14x1,5Rht-L=318mm TRWSteering M14x1,5Rht-L=244mm
7701473656 7701473655

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

info@parsrot.com



Rot sy

= [and RENAULT
CLIO I-SYMBOL 1998-2012
RN-13737 RN-13714KM
Axial Joint Steering Tie Rod Kit
e e—— Front Front
TRWSteering M14x1,5-L=293mm 7701471125
7701472735
RN-13715KM  RN-13716KM
Steering Tie Rod Kit Steering Tie Rod Kit
Front Front
7701472734 7701473656
RN-13737KM  RN-23721723
Steering Tie Rod Kit Steering Tie Rod Assembly
Front Front Right
TRWSteering TRWSteering M14x1,5Rht
7701472735 7701473655

RN-23722723

Steering Tie Rod Assembly

RN-23731734

Steering Tie Rod Assembly

Front Left Front Right
TRWSteering M14x1,5Rht SMISteering
7701473655 7701473655
RN-11203 KS 91-14
Ball Joint Stabilizer Link
Front Lower Front
D=@16mm-Hole:@10,5mm-J12,6mm 8200891487
7701468883
NS-20147
Control Arm Bushing
Front Right Lower Inner
7700424459
IV-HB 2012-2019
RN-11585 MB-20442
Ball Joint Control Arm Bushing
Front Center
D=218mm 8700242025
8200298455S

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

info@parsrot.com



—
sy L and

CLIO

RENAULT
IV-HB 2012-2019
——

RN-20441A RN-20441

Control Arm Bushing

Control Arm Bushing

Rear Rear
8200041166 8200041166
RN-13773 RN-13773KM
Axial Joint Steering Tie Rod Kit
Front Front
M14X1,5-L=232mm 485211071R
485211071R
RN-12771 RN-12772
Tie Rod End Tie Rod End
Front Right Front Left
M14x1,5 M14x1,5
485208355R 485200368R
RN-16778 RN-16779
Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint
Assembly Assembly
Front Right Lower Front Left Lower
545048506R 545055711R
RN-14776
Stabilizer Link
Front
L=248mm
8201079463

ESPACE 1984-1993

ESPACE

.

RN-23201417

Steering Tie Rod Assembly
Front
7701469229Y

RN-13416

Axial Joint

Front
L=220mm M14x1,5Rht

7700710208

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

RN-23201416

Steering Tie Rod Assembly
Front

7701463025

1984-1990

b

parsrot.com

info@parsrot.com



Rot sy

= [and RENAULT
ESPACE 1984-1990
RN-12201 RN-11405
Tie Rod End Ball Joint
Front Front Lower
M14x1.5Rht 7701461331
7701464151
RN-11404
Ball Joint
Front
7701461332
1991-1996
| |
RN-13417 RN-12201
~ Axial Joint Tie Rod End
! Front Front
L=190mmM14x1,5Rht M14x1,5Rht
7701464313 7701464151
RN-11415 RN-11414
Ball Joint Ball Joint
Front Lower Front
7701465689 7701469228
ESPACE 1996-2002
| |
RN-14610 RN-16425
Stabilizer Link Suspension Control Arm and Ball Joint
Assembly
! Front
L=364mm Front Left
7700805494 6025307649
RN-16424 RN-13513
Suspension Control Arm and Ball Joint Axial Joint
Assembly
. Front
FrontRight  M14x1,5Rht-L=258mm
6025307650 7701469502
RN-23421513 RN-23422513
Steering Tie Rod Assembly Steering Tie Rod Assembly
Front Right Front Left
6025370494 6025370493

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

info@parsrot.com



Rot sy

mw Land RENAULT
ESPACE m 1996-2002

RN-12421 RN-12422

Tie Rod End Tie Rod End
Front Right Front Left
C - *Q M14x1,5Rht.  M14x1,5Rht

6025370230 6025370229

RN-13513KM  RN-20152

Axial Joint Control Arm Bushing
Front Center
7701469502 7700822503

RN-20423 RN-20424

Control Arm Bushing Control Arm Bushing
Center Rear

8200002868 8200002869

RN-13663KM RN-13663

Steering Tie Rod Kit Axial Joint

Front Front
7701478552 M14x1,5-L=248,5mm
7701478552

RN-16668 RN-16669

Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint
Assembly Assembly

Front Right Front Left
8200602617 8200602616

RN-16668N RN-16669N
Suspension Control Arm Suspension Control Arm
Front Right Front Left
8200602617 8200602616

RN-14620 RN-12652

Stabilizer Link Tie Rod End

Front Front Left
L=279mm  M14x1,5Rht m

546181944R 7701049282

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 19 info@parsrot.com



—
sy L and

RENAULT

ESPACE

2002-2014

)

ESPACE

RN-12651
Tie Rod End

Front Right
M14x1,5Rht

7701049283

2015 after

EXPRESS

RN-11935
Ball Joint
Front

545057449R

EXTRA(VAN)

1985-1998

RN-13152

Axial Joint

Front
M14x1,5Rht-L=252mm

7701465915

RN-23201152

Steering Tie Rod Assembly
Front

7701463346

L

RN-16135

Suspension Control Arm and Ball Joint
Assembly

Front Right Lower
7700783456

RN-16136

Suspension Control Arm and Ball Joint
Assembly

Front Left Lower
7700783455

RN-16135N

Suspension Control Arm

Front Right Lower

RN-16136N

Suspension Control Arm

Front Left Lower

7700717044 7700717043
|
RN-12201 RN-11203
' TieRod End  Ball Joint
Front Front Lower
- M14x1,5Rht D=@16mm-Hole:J10,5mm-J12,6mm
¢ 7701464151 7701468883
FLUENCE 2010-2017
.|
RN-13753
Axial Joint
Front

ers and others in this document are used for reference purposes only.

* Name of vehicles, models, Ioglos, OE nu
MAA3A B =210mm
WX o ==2Tomm

A4154600000

info@parsrot.com



—
sy L and

RENAULT

—————— " — "= ——
FLUENCE 2010-2017

RN-13753KM  RN-12672
——— Steering Tie Rod Kit Tie Rod End
Front Front Left
7701478406 M1419
485202710R
I I
RN-11674 RN-16678
P Ball Joint Suspension Control Arm and Ball Joint o
Assembly /

Front Lower

Front Right Lower

401609060R
545009207R
] |
RN-16679 RN-16678N
——— Suspension Control Arm and Ball Joint Suspension Control Arm
Assembly Y,
Front Right Lower |
Front Left Lower \
545009207R b
545016838R
|
RN-16679N RN-14676
Suspension Control Arm Stabilizer Link
Front Left Lower Front
545016838R  L--264mm
546182198R
|
RN-12671
Tie Rod End
Front Right
M14x1,5
485204680R
1998-2008
RN-16736N RN-16736

Suspension Control Arm

Front Left Lower

Suspension Control Arm and Ball Joint
Assembly

Front Left Lower

Suspension Control Arm
Front Right Lower
8200197187

8200197179 101e:210,5mm
8200197179
RN-16735N RN-16735

Suspension Control Arm and Ball Joint
Assembly

Front Right Lower
Hole:@10,5mm

8200197187

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

info@parsrot.com



—
sy L and

KANGOO

RENAULT

1998-2008

RN-12722
Tie Rod End

Front Left
TRWSteering M14x1,5Rht

7701471145

RN-12721
Tie Rod End

Front Right
TRWSteering M14x1,5Rht

7701471146

RN-23732734

Steering Tie Rod Assembly

RN-23731734

Steering Tie Rod Assembly

Front Left Front Right
SMISteering SMISteering
7701473655 7701473655
|
RN-13716KM  RN-13716K
Steering Tie Rod Kit Axial Joint
Front Front W} -t
A _ (E—————— -
7701473656 Only:Clio2.016V M14x1,5Rht-L=318mm
7701473656
|
RN-13716 RN-13727
Axial Joint Axial Joint
Front Front 2 g e
Only:Clio2.016v M14x1,5Rht-L=318mm ManuelSteering M14x1,5Rht-L=264mm
7701473656 7701470764
RN-13728 RN-13727KM
Axial Joint Steering Tie Rod Kit
Front Front
PowerSteering M14x1,5Rht-L=265mm 7701471424
7701470763
RN-13728KM RN-16745
Steering Tie Rod Kit Suspension Control Arm and Ball Joint
Assembly
Front
PowerSteering Front Right Lower
Hole:@12,5mm
7701470763
8200254166
RN-16746 RN-16745N
Suspension Control Arm and Ball Joint Suspension Control Arm
Assembly
Front Right Lower
Front Left Lower
Hole:@12,5mm 8200254166
8200254163

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

22

info@parsrot.com



—
sy L and

KANGOO

RENAULT

1998-2008

RN-16746N

Suspension Control Arm

Front Left Lower

RN-11204
Ball Joint o

Front Lower
D=@16mm-Hole:J312,5mm

8200254163
7702127160
RN-12732 RN-13733
Tie Rod End Axial Joint
Front Left Outer Front e = -
M14x1,5Rht. Mn.Steering M14x1,5Rht-L=304mm
7701047812 7701472113
RN-13734 RN-13734K
Axial Joint Axial Joint
Front Front Inner
M14X1’5£%yﬁr3%s-e§m M14x1,5Rht-L=303mm
7701473655 7701473655
RN-13733KM RN-12731
Steering Tie Rod Kit Tie Rod End
Front Front Right Outer
7701472113 M14x1.5RAt
7701047813
RN-11203 NS-20147
- Ball Joint Control Arm Bushing

Front Lower
D=@16mm-Hole:@10,5mm-J12,6mm

Front Right Lower Inner

7700424459
7701468883
KANGOO
KS 15-14 RN-13753KM
Stabilizer Link Steering Tie Rod Kit
Front Front
7700799404 7701478406
RN-12751 RN-11755
Tie Rod End Ball Joint
J Front Right Front Left Lower
M M14x15  D=@20mm
A4154600105 A4153300300

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

info@parsrot.com



Rot sy

mw Land RENAULT
KANGOO 2008 after
RN-11754 RN-12752
Ball Joint Tie Rod End
Front Right Lower Front Left
D=@20mm M14x1,5
A4153300200 A4154600005
RN-13753 RN-14520
Axial Joint Stabilizer Link
Front Front
M14x1,5-L=210mm L=283mm
A4154600000 8200669065
RN-20441 RN-20441A
Control Arm Bushing Control Arm Bushing
Rear Rear
8200041166 8200041166
|
MB-20442 RN-16758
Control Arm Bushing Suspension Control Arm and Ball Joint
Assembly
Center
Front Right Lower
8200242025
8200586567
| |
RN-16759 RN-16758N
Suspension Control Arm and Ball Joint Suspension Control Arm
Assembly
Front Right Lower
Front Left Lower
8200586567
8200586561
|
RN-16759N

Suspension Control Arm
Front Left Lower

8200586561

NS-20717

Control Arm Bushing
Center
54501JD000

NS-20716

Control Arm Bushing
Front Right Inner
545001KA0B

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

info@parsrot.com



Rot sy

mw Land RENAULT
KOLEOS 2008-2016
NS-14906 NS-14907
Stabilizer Link Stabilizer Link
‘——\ Front Right Front Left
L=299,5mm L=299,5mm
54618JA000 54668JA000
]
NS-16909 NS-11900
Suspension Control Arm and Ball Joint Ball Joint
Assembly
Front Lower
Left Lower
54500JD000
54501JY00A
]
NS-16908 NS-13903KM
Suspension Control Arm and Ball Joint Steering Tie Rod Kit
Assembly
) Front
Right Lower includesaccessories.
|
NS-13903K NS-13903
—— Steering Tie Rod Kit Axial Joint
! Front Front
D8521JD00R M14x1,5-L=232mm
D8521JG00A
RN-12522 RN-12521
P Tie Rod End Tie Rod End
! Front Left Front Right
D8640JY00A D8520JY00A
KOLEOS 2nd Gen
|
NS-14905 NS-14186
— Stabilizer Link Stabilizer Link
Rear Left Front Right
L=143,5mm  546184CBOA
55619JY00B
|
NS-14187 NS-16188
o Stabilizer Link Suspension Control Arm and Ball Joint
Assembly
Front Left
Front Right Lower
546684CB0A

545005HA0A

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

info@parsrot.com



Rot sy

mw Land RENAULT
KOLEOS 2nd Gen 2016 after

|
NS-16189 NS-11900
Suspension Control Arm and Ball Joint Ball Joint
Assembly
Front Lower
Front Left Lower
54500JD000
545015HAOA
|

NS-14904 RN-23941773
Stabilizer Link Steering Tie Rod Assembly
Rear Right Front Right

L=143,5mm 485213221R
55618JY00B

RN-23942773 RN-13773

P Steering Tie Rod Assembly Axial Joint

Front Left Front
M14X1,5-L=232mm

485213221R
485211071R
RN-13773KM
Steering Tie Rod Kit
Front
485211071R
LAGUNA | 1993-2001
| |

RN-14610 RN-13603

Stabilizer Link Axial Joint

Y —— Front Front Inner )
L=364mm M14x1,5Rht-L=265mm

7700805494 7701469665

RN-13603K RN-13603KM
Axial Joint Steering Tie Rod Kit

Front Front
M14x1,5Rht-L=265mm 7701469665

7701469665

-_——————

RN-23601603 RN-23602603

Steering Tie Rod Assembly Steering Tie Rod Assembly

R ™ Front Right Front Left " SRS
7701467502 7701467501

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 26 info@parsrot.com



Rot sy

mw Land RENAULT
LAGUNA 1993-2001
|
RN-12601 RN-12602
Tie Rod End Tie Rod End
L -4
Front Right Front Left k_/"ﬂ
M14x1,5Rht M14x1,5Rht S 2
6000022736 6000022737
|
RN-11605 RN-16625
Ball Joint Suspension Control Arm and Ball Joint
Assembly
Front
Front Right Lower
7700829322
7700823098
|
RN-16626 RN-16625N
Suspension Control Arm and Ball Joint Suspension Control Arm
Assembly
Front Right Lower
Front Left
7700823098
7700823097
|
RN-16626N RN-20152
Suspension Control Arm Control Arm Bushing
Front Left Lower Center
7700823097 7700822503
RN-20153
Control Arm Bushing
Rear
7700824042
2001-2007
RN-20424 RN-20423
Control Arm Bushing Control Arm Bushing
Rear Center
8200002869 8200002868
RN-13653 RN-13653KM
Axial Joint Axial Joint
@:— = Front Front
M14x1,5-L=218mm 7701478551
7701472766

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

info@parsrot.com



—
sy L and

RENAULT

2001-2007

RN-16657 RN-16658
Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint
Assembly Assembly
Front Right Lower Front Left Lower
8200389135 8200389134
RN-16657N RN-16658N

Suspension Control Arm

Front Right Lower

Suspension Control Arm

Front Left Lower

—

2007-2015

i 8200389135 8200389134
|
RN-12651 RN-12652
_ Tie Rod End Tie Rod End
Front Right Front Left
M14x1,5Rht M14x1,5Rht
7701049283 7701049282
RN-11655 RN-14620
Ball Joint Stabilizer Link
Front Lower Front
7701476576 ~ --279mm
546181944R
LAGUNA il
RN-13903 RN-13903KM
Axial Joint Steering Tie Rod Kit
Front Front
M14x1.5-L=188mm 485210001R
485210001R
RN-12901 RN-12902
Tie Rod End Tie Rod End
Front Right Front Left
M14x1.5 M14x1.5
485200002R 485200001R
RN-11904 RN-16908
Ball Joint Suspension Control Arm and Ball Joint

Front Lower

401600004R

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

Assembly
Front Right Lower
545000002R

parsrot.com

28

info@parsrot.com



Rot sy

== Land RENAULT
LAGUNA il 2007-2015
RN-16909 RN-16908N
Suspension Control Arm and Ball Joint Suspension Control Arm
Assembly
Front Right Lower
Front Left Lower
545000002R
545010012R
RN-16909N RN-14580
Suspension Control Arm Stabilizer Link
Front Left Lower Front
545010012R ~ L=294mm
546180001R
RN-20732 RN-20733
Control Arm Bushing Control Arm Bushing
Rear Center
545010009R 545010009R
MASTER (Europa) 1981-1997
| |
RN-12451 RN-11454 ®
Tie Rod End Ball Joint
Front Front
7701462427 7701462692
| |
= RN-11455 OP-20518
Ball Joint Control Arm Bushing
Front Lower Upper
7701462693 82000024454
MASTER |
|
OP-20518 NS-20388
Control Arm Bushing Control Arm Bushing
Upper Lower
82000024454 91603395
NS-20389 RN-13474KM
Control Arm Bushing Steering Tie Rod Kit
Front Lower Inner Front
9160394 7701470362

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

29

info@parsrot.com



Rot sy

== Land RENAULT
MASTER | 1998-2003
|
RN-13473 RN-12471
Axial Joint Tie Rod End .
. k!
h fi— Front Front Right 7 ~
M16x1,5-L=176mm M16x1,5Rht [ - i
7701470362 7701470364
|
RN-14460 RN-14461
-
“'i Stabilizer Link Stabilizer Link
o ) E Front Right Front Left
' L=127mm  L=127mm '
- 7700309071 7700309070 @
|
RN-16477 RN-16478
Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint
Assembly Assembly
Front Right Lower Front Left Lower
Ball Joint D=@22mm Ball Joint D=@22mm
7700302119 7700302118
| |
RN-16477N RN-16478N

Suspension Control Arm

Front Right Lower

Suspension Control Arm

Front Left Lower

7700302119 7700302118
RN-12472 RN-11470
Tie Rod End Ball Joint
Front Left Front Upper
M16x1,5Rht 4401910
7701470363
RN-11476 RN-11475 LY
Ball Joint Ball Joint
Front Front Lower
4501261 ~ D=922mm
7700312852
MASTER Il
|
(=) RN-11476 RN-11470
=i Ball Joint Ball Joint
Front Front Upper
4501261 4401910
* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.
parsrot.com 30 info@parsrot.com



Rot sy

mw Land RENAULT
MASTER | 2003-2010
|
RN-12472 RN-16488
i Tie Rod End Suspension Control Arm and Ball Joint
[ Assembly
: Front Left )
M16x1,5Rht Front Right
D=@24mm
7701470363
93194855
RN-16489 RN-11484
Suspension Control Arm and Ball Joint Ball Joint
Assembly
Front Lower
Front Left D=@24mm
D=@24mm
7701070154
93194853
RN-11484K RN-14461
e Suspension Ball Joint Kit Stabilizer Link
\ Front Front Left
D=@24mm L=127mm
7701070154 7700309070
RN-14460 RN-12471
“'i Stabilizer Link Tie Rod End
o i e Front Right Front Right
1 L=127mm M16x1,5Rht
- 7700309071 7701470364
|
RN-13473 NS-20389
Axial Joint Control Arm Bushing
h [— i Front Front Lower Inner
M16x1,5-L=176mm 9160394
7701470362
NS-20388
Control Arm Bushing
Lower
91603395
MASTER il 2010 after
|
RN-12491 RN-13493
Tie Rod End Axial Joint
Front Right Front
M18X1,5 M18X1,5-L=253mm
485200780R 485212373R

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 31 info@parsrot.com



—
sy L and

MASTER

RENAULT

2010 after

RN-14490

Stabilizer Link

RN-16499

Suspension Control Arm

Front Right Lower

Front Front Left Lower
L=330mm 93197214
93197325
RN-16498 RN-11497
Suspension Control Arm Ball Joint

Front Right Lower

8200688875 ~ D-217.9mm
401608374R
RN-11494 RN-12492
Ball Joint Tie Rod End
Front Left Lower Front Left
D=@17,9mm M18X1,5
93197233 485206730R
RN-14495 RN-14496
Stabilizer Link Stabilizer Link
Rear Rear
L=166mm Only:VanType L=106mm
93168675 551100019R
OP-20760 OP-20759
Control Arm Bushing Control Arm Bushing
Front Inner Front Left
93197214 8200688875
RN-13510 RN-13513K
Axial Joint Axial Joint
Front Front Inner
TRWSteering CopleteKit M14x1,5-L=259mm
7701469280 7701469502
RN-13514 RN-13573
Axial Joint Axial Joint
Front Front o ————= >
1998-1999 TRWSteering M14x1,5-L=285mm
7701471885 7701472087

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

info@parsrot.com



Rot sy

= Land RENAULT
MEGANE 1995-2003
. |

RN-16575N

= Suspension Control Arm

Front Left Lower

RN-16576N

Suspension Control Arm o

Front Right Lower

8200737132 8200737133
RN-12512 RN-11516
Tie Rod End Ball Joint
Front Left Front
M14x1,5Rht Only:ABS1.9TD Hole:@12,5mm
7701041311 7700430766
RN-16575 RN-16576
Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint
Assembly Assembly
Front Left Lower Front Right Lower
(ABS)1.9TD (ABS)1.9TD
8200737132 8200737133
RN-13573K RN-13574
Axial Joint Axial Joint
Front Front T —
TRMERIeCoIRs,  aPEgbhRoYyost
7701472087 7701471844
RN-13510KM  RN-13514KM —

A~ Steering Tie Rod Kit

Steering Tie Rod Kit N

Front Front
TRWSteering 771471885
7701469280
RN-13573KM RN-13574KM
Steering Tie Rod Kit Steering Tie Rod Kit
Front Front
TRWSteering SMI-KoyoSteering
7701472087 7701471844
RN-23511513 RN-23512513
Steering Tie Rod Assembly Steering Tie Rod Assembly
Front Right Front Left
7701469282 7701468952

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

info@parsrot.com



—
sy L and

MEGANE

L

(=)

RN-12511 RN-16556N
Tie Rod End Suspension Control Arm
Front Right Front Left Lower
M14x1,5Rht 7700829841
7701041312
RN-13513KM RN-13513
Axial Joint Axial Joint
Front Front
7701469502 M14x1,5Rht-L=258mm
7701469502
RN-16555N  RN-16526N

Suspension Control Arm
Front Right Lower
7700829842

Suspension Control Arm
Front Left Lower

7700818052

RN-16525N

Suspension Control Arm

Front Right Lower

RN-16556

Suspension Control Arm and Ball Joint
Assembly

Front Left Lower

7700831368 Only:2.016V
7700829841
RN-16555 RN-16526
Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint
Assembly Assembly

Front Right Lower
Only:2.016V

Front Left Lower

7700818052
7700829842
RN-16525 RN-20151
Suspension Control Arm and Ball Joint Control Arm Bushing
Assembly
Front Inner
Front Right Lower
7700789477
7700831368
RN-20150 RN-11203
Control Arm Bushing Ball Joint
Front Inner Front Lower
7700840741 D=@16mm-Hole:@10,5mm-J12,6mm

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

7701468883

RENAULT

1995-2003

parsrot.com

info@parsrot.com



Rot sy

= Land RENAULT
MEGANE 2003-2009
RN-11585 MB-20442
Ball Joint Control Arm Bushing
Front Center
D=218mm 8700242025
82002984558
RN-20441A RN-20441
Control Arm Bushing Control Arm Bushing
Rear Rear
8200041166 8200041166
|
RN-14520 RN-13583
Stabilizer Link Axial Joint
Front Front -_a—————ai e
L=283mm M14x1,5-L=216mm
8200669065 7701474448
RN-18500 RN-14596

Suspension Control Arm Repair Kit

Stabilizer Link

Front Front
R-587/R-588/R581583/R582583/R-52£5 Only:HB L=266,5mm
8200669066
RN-13583KM RN-23581583
Steering Tie Rod Kit Steering Tie Rod Assembly
Front Front Right
7701474448 7701474796
RN-23582583 RN-12581
Steering Tie Rod Assembly Tie Rod End
Front Left Front Right
7701474795 ~ M14x1,5Rnt
7701474796
RN-12582 RN-11595
Tie Rod End Ball Joint
w Front Left Front Lower
- M14x1,5Rht D=@g16mm
7701474795 8200255761S

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

info@parsrot.com



Rot sy

RENAULT

2003-2009

Front Right Lower

Front Left Lower

== Land
MEGANE |
RN-16587 RN-16588
Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint
Assembly Assembly
Front Right Lower Front Left Lower
D=@18mm D=g18mm
8200679067 8200679063
]
RN-16597 RN-16598
Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint
A Assembly Assembly

Ball Joint D=@16mm

Ball Joint D=@16mm

”~
”~

2009-2015

8200255761 8200255760
MEGANE 1]
|
RN-14670 RN-14670A
Stabilizer Link Stabilizer Link
Front Front
(Alm.Design) L=274,5mm (MetalDesign) L=274,5mm

546180002R 546180002R

RN-16679N  RN-16678N

Suspension Control Arm

Front Left Lower

Suspension Control Arm

Front Right Lower

Front Left Lower

545016838R 545009207R
RN-16679 RN-16678
Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint
Assembly Assembly

Front Right Lower

545016838R 545009207R
RN-11674 RN-12672
Ball Joint Tie Rod End
Front Lower Front Left
401600060R ~ M14x1.5
485202710R
RN-12671 RN-14680
Tie Rod End Stabilizer Link
Front Right Front
M14x1,5 RSType
485204680R 8200686016

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

36

info@parsrot.com



—
sy L and

MEGANE

RENAULT

2009-2015

RN-20743

Control Arm Bushing

Front Right Lower Inner

RN-20744

Control Arm Bushing

Front Outer

Control Arm Bushing

Front Lower Outer

545009207R 545600004R
RN-13753 RN-13753KM
Axial Joint Steering Tie Rod Kit
Front Front
M14x1,5-L=210mm 7701478406
A4154600000
RN-201022 RN-201023

Control Arm Bushing

Front Lower Inner

545057449R 545047275R
RN-12922 RN-14920A
Tie Rod End Stabilizer Link
Front Left Front
485206481R Aluminiumversion
546187005R
RN-14920 RN-13923
Stabilizer Link Axial Joint
Front Front
Aluminium - 4 85216564R
546187005R

RN-23921923

Steering Tie Rod Assembly

RN-23922923

Steering Tie Rod Assembly

Front Right Front Left
485216564R 485216564R
RN-12921 RN-11925

Tie Rod End Ball Joint
Front Right Front
485201340R 545057449R

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

info@parsrot.com



Rot sy

== Land RENAULT
MEGANE 2016 after
RN-16928 RN-16929
—— Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint
Assembly Assembly
N J Front Right Front Left
N’ SheetMetal SheetMetal
545045297R 545057449R
]
RN-16948 RN-16949
-'»"’—’*-‘. Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint
Assembly Assembly
Front Right Lower Front Left Lower
545049124R 545054733R
]
RN-16958 RN-16959
P Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint
Assembly Assembly
Front Right Lower Front Left Lower
545049671R 545056711R
RN-16928N RN-16929N

Suspension Control Arm
Front Right Lower
545045297R

Suspension Control Arm
Front Left Lower

545057449R

RN-16958N

Suspension Control Arm
Front Right Lower
545049671R

RN-16959N

Suspension Control Arm
Front Left Lower

545056711R

RN-16428N

Suspension Control Arm

Front Left Lower
Ball Joint D=&18mm

8200744091

RN-16427

Suspension Control Arm and Ball Joint
Assembly

Front Right Lower
Ball Joint D=@18mm

8200744092

RN-16427N

Suspension Control Arm

Front Right Lower
Ball Joint D=J18mm

8200744092

RN-16428

Suspension Control Arm and Ball Joint
Assembly

Front Left Lower
Ball Joint D=@18mm

8200744091

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

info@parsrot.com



Rot sy

mw Land RENAULT

2004-2014

SAFRANE

RN-20663 RN-12731
Control Arm Bushing Tie Rod End
Front Lower Outer Front Right Outer
8200744092 M14x1,5Rht.
7701047813
RN-12732 NS-14420
Tie Rod End Stabilizer Link
Front Left Outer Front
M14x1,5Rht. L=248mm
7701047812 551107916R
RN-13423KM  RN-13423
Steering Tie Rod Kit Axial Joint
Front Front
includesaccessories. M14x1,5Rht-L=305.5mm
7701475841 7701475841
RN-11585 NS-20473
Ball Joint Control Arm Bushing
Front Center
D=218mm 4500183569
8200298455S

RN-20154 RN-2013
Control Arm Bushing Control Arm Bushing
Center Rear
7700806239 7700806238
RN-14610 RN-11605
Stabilizer Link Ball Joint
Front Front
L=364mm 7700829322
7700805494
RN-13643 RN-23641643
Axial Joint Steering Tie Rod Assembly
Front Front Right
M14x1,5-L=291mm 7701466800
7701469569

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

39

info@parsrot.com



—
sy L and

SAFRANE

RENAULT
1992-2000

RN-23642643 RN-12641
Steering Tie Rod Assembly Tie Rod End
Front Left Front Right
7701466799  M14x1.5RNt
6000022715
RN-12642 RN-16645
Tie Rod End Suspension Control Arm and Ball Joint
Assembly
Front Left
M14x1,5Rht Front Right Lower
6000022714 7700823581
RN-16646 RN-16645N
Suspension Control Arm and Ball Joint Suspension Control Arm
Assembly
Front Right Lower
Front Left
7700823581
7700823580
RN-16646N

Suspension Control Arm
Front Left Lower

7700823580

1997-2002

RN-23731574

Steering Tie Rod Assembly

RN-23732574

Steering Tie Rod Assembly

Front Right Front Left
SMI-KOYOSteering SMI-KOYOSteeringYear
7701474493 7701474492
RN-11515 RN-14518
Ball Joint Stabilizer Link
Front Front
D=g16mm-@13mmHole PG Bam  OnyAx4 L=257mm
7701472038 7700437136
RN-13573 RN-13513K
Axial Joint Axial Joint
Front Front Inner
TRWSteering M14x1,5-L=285mm CopleteKit M14x1,5-L=259mm
7701472087 7701469502

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

info@parsrot.com



—
sy L and

SCENIC

RENAULT

RN-16576N

Suspension Control Arm

Front Right Lower

RN-16575N

Suspension Control Arm

Front Left Lower

1997-2002

8200737133 8200737132
RN-16576 RN-16575
Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint
Assembly Assembly

Front Right Lower Front Left Lower
(ABS)1.9TD (ABS)1.9TD
8200737133 8200737132

RN-11516 RN-12512
Ball Joint Tie Rod End
Front Front Left
Only:ABS1.9TD Hole:@12,5mm M14x1,5Rht
7700430766 7701041311
RN-12511 RN-23512513
Tie Rod End Steering Tie Rod Assembly
Front Right Front Left
M14x1.5Rht 7701468952
7701041312
RN-23511513 RN-13574KM
Steering Tie Rod Assembly Steering Tie Rod Kit
Front Right Front
7701469282 SMI-KoyoSteering
7701471844
RN-13573KM  RN-13574
Steering Tie Rod Kit Axial Joint
Front Front
TRWSteering ﬁlq 2)??%]@; 288",-!{503'0&
7701472087 7701471844
RN-13573K  RN-16556N
Axial Joint Suspension Control Arm
Front Front Left Lower
TRVSIssInarompiste. 7700829841
7701472087

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

info@parsrot.com



—
sy L and

SCENIC

RN-13513 RN-13513KM

Axial Joint Axial Joint
Front Front
M14x1,5Rht-L=258mm 7701469502
7701469502
RN-16525 RN-16526
Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint

Assembly Assembly

Front Right Lower

Front Left Lower

7700831368 7700818052

RN-16555 RN-16556

Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint
Assembly Assembly

Front Right Lower Front Left Lower
Only:2.016V Only:2.016V
7700829842 7700829841

RN-16525N RN-16526N

Suspension Control Arm

Front Right Lower

Suspension Control Arm

Front Left Lower

7700831368 7700818052
RN-16555N RN-12732
Suspension Control Arm Tie Rod End

Front Right Lower

Front Left Outer

7700820842 M14x1.5RAt
7701047812
RN-12731 RN-20150
Tie Rod End Control Arm Bushing
Front Right Outer Front Inner
M14x1.5RM 7700840741
7701047813
RN-20151 RN-11203
Control Arm Bushing Ball Joint
Front Inner Front Lower
7700789477 D=@16mm-Hole:@10,5mm-J12,6mm

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

7701468883

RENAULT

1997-2002

parsrot.com

info@parsrot.com



Rot sy

mw Land RENAULT
SCENIC | 2003-2009
RN-11585 RN-14520
Ball Joint Stabilizer Link
Front Front
D=@18mm L=283mm
82002984558 8200669065
RN-20441 RN-20441A
Control Arm Bushing Control Arm Bushing
Rear Rear
8200041166 8200041166
|
MB-20442 RN-13583
Control Arm Bushing Axial Joint
Center Front -_a—————ai e
8200242025 M14x1,5-L=216mm
7701474448
|
RN-18500 RN-16588
Suspension Control Arm Repair Kit Suspension Control Arm and Ball Joint
Assembly
Front
R-587/R-588/R581583/R582583/R-5202 Front Left Lower
Al D=@18mm
8200679063
|
RN-16587 RN-12582
Suspension Control Arm and Ball Joint Tie Rod End
Assembly
Front Left
Front Right Lower M14x1,5Rht
D=@18mm
7701474795
8200679067
RN-12581 RN-23582583
Tie Rod End Steering Tie Rod Assembly
Front Right Front Left
M14x1.5RNt 7701474795
7701474796
RN-23581583 RN-13583KM
Steering Tie Rod Assembly Steering Tie Rod Kit
Front Right Front
7701474796 7701474448

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

43

info@parsrot.com



Rot sy

= Land RENAULT
SCENIC il 2009-2016
RN-14670A RN-14670
Stabilizer Link Stabilizer Link
Front Front
(MetalDesign) L=274,5mm (Alm.Design) L=274,5mm
546180002R 546180002R
]
RN-12672 RN-11674
Tie Rod End Ball Joint
Front Left Front Lower
M14x1.5 401609060R
485202710R
]
RN-16678 RN-16679
S Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint
\ Assembly Assembly
Front Right Lower Front Left Lower
545009207R 545016838R
RN-16678N RN-16679N

Suspension Control Arm

Front Right Lower

Suspension Control Arm

Front Left Lower

545009207R 545016838R
RN-12671 RN-20744
Tie Rod End Control Arm Bushing
Front Right Front Outer
M14x1.5  545600004R
485204680R
RN-20743 RN-13753KM
Control Arm Bushing Steering Tie Rod Kit
Front Right Lower Inner Front
545009207R 7701478406
RN-13753
Axial Joint
Front
M14x1,5-L=210mm
A4154600000

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

44

info@parsrot.com



—
sy L and

TALISMAN

1st Gen

RENAULT

2015 after

RN-201083

Control Arm Bushing

Front Outer

RN-201023

Control Arm Bushing

Front Lower Inner

Steering Tie Rod Assembly

545050303R 545047275R
RN-13933 RN-23921933
Axial Joint Steering Tie Rod Assembly
Front Front Right
485212309R 485212309R
RN-23922933 RN-16938

Suspension Control Arm and Ball Joint
Assembly

Front Left
Front Right
485212309R
545047275R
RN-16939 RN-12921
Suspension Control Arm and Ball Joint Tie Rod End
Assembly
Front Right
Front Left
485201340R
545050303R
RN-14920 RN-14920A
Stabilizer Link Stabilizer Link
Front Front
Aluminium Aluminiumversion
546187005R 546187005R
RN-12922 RN-11935
Tie Rod End Ball Joint
Front Left Front
485206481R 545057449R

RN-13158

Axial Joint

Front
M14x1,5Rht-L=296mm

7701464313

RN-23151158

Steering Tie Rod Assembly
Front
7701465035

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

info@parsrot.com



—
sy L and

TRAFIC

RENAULT
| 1980-1989
|
RN-12151 RN-11155 -
TieRodEnd  Ball Joint 1
Front Front '
M14x1.5RNt 7701461667
7701461770
Il 2001-2014
RN-11656 RN-13654KM
Ball Joint Steering Tie Rod Kit
Front Lower Front
@12mm 7701473333
7701477385
RN-14620 RN-16662N

Stabilizer Link

Suspension Control Arm

Front Front Left Lower
L=279mm 93853464
546181944R
RN-16659 RN-16660
Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint
Assembly Assembly

Front Right Lower

Front Left Lower

8200054006 8200054003
RN-16661 RN-16662
Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint
Assembly Assembly

Front Right Lower
8200565079

Front Left Lower

8200565072

RN-16659N

Suspension Control Arm

Front Right Lower

RN-16660N

Suspension Control Arm

Front Left Lower

8200054006 8200054003
RN-16661N RN-11655
Suspension Control Arm Ball Joint

Front Right Lower
93853465

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

Front Lower

7701476576

parsrot.com

46

info@parsrot.com



Rot sy

= Land RENAULT
TRAFIC Il 2001-2014

RN-12652 RN-12651

N Tie Rod End Tie Rod End
Front Left Front Right
e i M14x1,5Rht  M14x1,5Rht
|

7701049282 7701049283

RN-13654 NS-20578

Axial Joint Control Arm Bushing
5T ¢ 1 e—— Front Center
M14x1,5-L=263mm 545006069R
7701473333
NS-20579

Control Arm Bushing
Front Right Inner
545006069R

1] 2014 after

NS-20579 NS-20578

Control Arm Bushing Control Arm Bushing
Front Right Inner Center
545006069R 545006069R

RN-13654 RN-12651

Axial Joint Tie Rod End

T e—— Front Front Right
M14x15-0=263mm  M14x1,5Rht ﬂ

7701473333 7701049283

RN-12652 RN-13654KM
Tie Rod End Steering Tie Rod Kit
Front Left Front

M14x1,5Rht 7701473333
7701049282

RN-16168 RN-11165

Suspension Control Arm and Ball Joint Ball Joint
Assembly
Front
Front Right
545019956R
545006069R

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 47 info@parsrot.com



Rot sy

Front Right Lower
8200737126

Front Left Lower

8200737126

== Land RENAULT
TRAFIC il 2014 after
|
RN-16169
=== Suspension Control Arm and Ball Joint
Assembly
Front Left
545019956R
TWINGO (C06) 1993-2007
|
RN-13800KM RN-13803KM
Steering Tie Rod Kit Steering Tie Rod Kit
Front Front
7701473498 7701469517
|
RN-23801803 RN-23802803
Steering Tie Rod Assembly Steering Tie Rod Assembly
g & ‘ Front Right Front Left
7701467219 7701469517
|
RN-12801 RN-12802
. Tie Rod End Tie Rod End
Front Right Front Left
M14x1,5Rht M14x1,5Rht
6000022731 6000022730
|
RN-16825 RN-16826
a Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint
Assembly Assembly
|

RN-16825N

Suspension Control Arm

Front Right Lower

RN-16826N

Suspension Control Arm

Front Left Lower

7700820029 7700820028
RN-14849 RN-14850
Stabilizer Link Stabilizer Link
Front Right Front Left
L=256mm L=256mm
8200714448 8200714446

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

48

info@parsrot.com



Rot sy

= Land RENAULT
TWINGO (C06) 1993-2007
RN-13803 RN-11203
Axial Joint Ball Joint
Front Front Lower
M14x1,5-L=295.2mm D=@16mm-Hole:@10,5mm-&12,6mm
7701469517 7701468883
RN-20148 RN-20149
Control Arm Bushing Control Arm Bushing
Front Inner Front Inner
7700831364 7700819929
Il (CNO)
NS-20147 KS 15-14
Control Arm Bushing Stabilizer Link
Front Right Lower Inner Front
7700424459 7700799404
RN-13803 RN-13863
Axial Joint Axial Joint
Front Front
M14x1,5-L=295.2mm 7701477878
7701469517
RN-13863KM RN-11864
Steering Tie Rod Kit Ball Joint

Front Right Lower
8200942396

Front Front Lower
7701477878 8200763296
RN-16868 RN-16869
Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint
Assembly Assembly

Front Left Lower

8200942392

RN-16868N

Suspension Control Arm
Front Right Lower
8200942396

RN-16869N

Suspension Control Arm
Front Left Lower

8200942392

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

info@parsrot.com



ﬂo[n
= Land RENAULT

TWINGO Il (CNO) 2007-2014

RN-12732 RN-12731
Tie Rod End Tie Rod End

Front Left Outer Front Right Outer
M14x1,5Rht. M14x1,5Rht.

7701047812 7701047813

RN-13734K

Axial Joint

Front Inner
M14x1,5Rht-L=303mm

7701473655

1] 2014 after

SM-12161 SM-12162
Tie Rod End Tie Rod End N
Front Right Front Left !
4533307000 4533307100

RN-14810
Stabilizer Link
Front

546181179R

LHD 2002-2009

RN-14650 RN-13663KM

Stabilizer Link Steering Tie Rod Kit

Rear Front
L=184mm 2201478552
8200619922

RN-13663 RN-12652
Axial Joint Tie Rod End

Front Front Left
M14x1,5-L=248,5mm M14x1,5Rht

7701478552 7701049282

RN-12651 RN-14620

Tie Rod End Stabilizer Link

Front Right Front
ﬂ M14x1,5Rht  L=279mm

7701049283 546181944R

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 50 info@parsrot.com






